
2019

#6 N(x))= 5Etray
N(x) =
-ex

2020

#3(b)

If sCT)YA, Ifo, cESCKI

det(2,x) = lgre

as20, dt +00



1. (M. N) =< SjwsdAs, So AsdWs]

=SotwsBsaCB,w)s

Two dim Ite

↑>diMENE= martingale+ (...) det

=>EEMENTS = S.ET ... 3 dt

I
use [to formula again...

2. Similar to European Call

3.DON'T need to find the

formula for it.



1. ↓ MN = N2M + MdN

MNt=SoTNSWsdAs + SoTMs AsaWs

CYnENEGBs)"+(SoTMsAsawd"
+2 (SoTUsWsdAs)(SoTusBsaws)

#[MtvtY = SoTETwjSds+SoEtMus"As]ds
f(Ns,ws
f(x,y) =xyz



2010

#2Xt =ettwict) + S
-wisdwz(s) + So-bsds

deXt= mctldt+e*tdWilt) +wHldWsH1 +bdt

↑dMt= eEdwiCtl+oHdWt
2x.xt=(M,M)t

= (Y+ z,Y+ z7+

= (Y,Y)+ + (z,z)++ 2-(Y,z)+

-

2020
O -> IT

#T f(t) = C
&L ->>T

dSt=d+Stdt+dtStdWe under IP

1) Girsanow
&St= 2. Stdet+W+StdWe under

Ct IT - r(T- t) E+ [(S+ -x)+]vVt=e

&logst = Crdt+Wedevt) -ofat

- (r-toE)d+ +etd Et



Secr-[ts)ds+SFUsdEs
= ST =S+ e *

Scr-tvslds+SErsaws
v=e*EAx)x]

5Usds = Stusars + Sasaws
[ -v(+ - wt) + 10w(E - +)J
=>sErsas is ind of (It.

-CF+'h(St) where wNCo,
SEOsas]

:. Vt= e

SEcr-E)ds+SEUsdis
n(x) =[(xe ~

-x)+7

= Computation ...


